543 T 543

. Up o Ip U, U, I I, Ug max Doy max T tain = max
' v ‘\ A Vv | Vv |mA|l ma v mA °C

5C2 GE 1 2,5 21 750 1250 | 6400 | 77000 —3,5=--100 | —55+ 475
5 C 30 ‘ GE | 25! 23 750 1500 | 5000 | 75000 —1,5=—-100 ; —55+ +75
305 Cet 3 ‘ 25) 7 850 1700 | 2000 | 12000 +6+ —100 100300 —40+ 465
308 Cet 1 E 2,5| 18 750 750 | 6400 | 40000 —3,5+ —100 —40+ +85
5632 GE 2 25| 9 750 1250 | 2500 | 30000 —45+~ —100 . =55+ 470
5664 | amer 3 2,5. 6,3

: 750 1250 | 1000 | 8000 —4 = —100 —55+ 475
5683 amer 4 2,5 63

Equivalents

C 1 BJA Elc = 5664 CE 306 Cet=5C 3 |ELC5B Elc = 5 C 30
C1]J/A Elc = 5683 CE 308 Cet = 308 ELC 6 ) Ele = 5C2
C 3} Elc = 5632 ELC 1 BJA Ele = 5664 WL 5664 Wst= 5664
C58B Elc = 5 C 30 ELC 1 JJIA Elc = 5683 WL 5683 Wst= 5683
Cé6]) Elc = 5 C 21 ELC 3] Elc = 5632 306 Cet =5C2
CE 305 Cet = 305
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